EARAROBEEIERT — 2 N— IBISH —F

201556H25H (K) 7HEZHE3H

mzﬁ&\’o&%" B5 #5%—M (xwlw | lmEmml - |5 @) w8
[AE£] 1% :155,000” ~ 2#%:28,000 ™  3#%&:11,000M”  43%&:800H ~ 5%&:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N > FERFEAR 142, -1-1- . — AEEL (BHE)
: NEEA% 1= 5| T 1(4_2)6 1-1-1-1 [ 39.2 3 (4_327) e {
Ry TELRSF— BiYNN— LA HRESH LEXLLbLTr—L4
S 9 FLEFRER :43. —-3-3- . — AREH (BHE)
ol 1|1 | FAT—UEK- S B S IR S e
R:Z2=ZyYzlb B:R7)—v— (B) #AEI-FKL—va>@AE77
- e . 65 _ I1ES (BHE)
slzlg| =¥/ 740d-1 46 s 1.&:@).7 6-6-5-4 | 40.3 1 (4_731) L
RF LTI AT BiTE—IR =B B
e AT # o7 | GHEKX 1:44.9 2-2-2-3 | 41.3| — 2 464 | AEED (BHE)
4l8l9|T>7VyTE—DO 5.0 (1 1/2) © | (B JP N
L:vY/ by THY BNAALY ML= 2= Fii5
S 1EmER Al 145, —-4-4- . — Bl (BEHE)
5055 A/ HVTF 5B 1(34/54>0 s 409 ° (‘_1?2) e
2B —1)>iO0—X B:vARxINMNYDT ]z:Ese:)
=5 . FLILE— 145, —5-6- . — ERME (BHE)
6 2 t/T'?tZ/T 4 5 540 (1749570) 5-5-6-6 40.7 6 (4_4; o Eso
L:TAVHLRZ B:T7HeHLE— F&E #hA
s= = B 5 | DIERFUE 1:45.3 9-8-7-7 | 40.1| — 9 467 | ABIET (BEHE)
71717 | ¥V Z>T7 10— 54.0 (1 1/2) (45) | W) Tr—ZrEYa>
:aZ /XLy b BiFNTUT FES S
4 5 | RARFAER 1:46.7 10-7-8-8 |[41.5| — 8 449 EBiA— (BEHE)
88|10 TNIIAYEX 5.0 @) () | R J P Nt
B LT Ry TR B3I/ UH—1— BREFAS
N o T HZ :47. -9-9- . — TREERSDT (5#A
9 R RILIF X 4 8 I 1 (447)6 7-9-9-9 | 42.0 7 ;1:512) ) t\_x;?
R:TFv78%y—K B:42)Lb Itk FEE
o) = < 4 4 8 | RERZ 1:48.5 8-10-10-10 | 42.7 | — 10 | 460 |BEAEE (542)
) c IR 5.0 @) -8) W 77z hEvas
R:VrZaq1>r B:TVF4~XT+1 BT 7 —L4
® 1—F—@EBIERL
1T=7r= 4,9,1,5,2,8,3,6,7,10
23— — 4,9,1,5,2,8,10,7,3,6
Ja=5= 4,9,1,5,8,2,7,10,3,6
43—+ — 4,1,9,8,5,2,7,10,3,6
[ N5
B 4 640M 714K 1-4 350M e E 1-4 1,200 JEE 1-4-8 860M
B B 4 130H4 4-8 330M B = 1-4 1,060 JEE 4-1-8 9,530
1 1909 1-8 370M B H 4-1 2,980M
8 1009

ABICOVWTRDTEEERROODE. TR LIV,




